

LAKE JOONDALUP BAPTIST COLLEGE YEAR 7 2021 REQUIREMENTS



By ordering through Ziggies Educational Supplies, you are helping your school raise important funds for resources and are also supporting a WA owned and operated business.

PLEASE ORDER BY SELECTING ONE OF THE FOLLOWING OPTIONS BELOW:

OPTION 1 - DELIVERY (online)

Available all year round Visit: booklists.ziggies.net.au

<u>School-Year Code:</u> LJBD-7 Password: ZZY298

DELIVERY CHARGES: Free delivery for orders placed by 18/12/2020

To ensure Family orders are sent together, enter the full name & year level of each sibling in the "comments" area.

PLEASE NOTE:

Delivery Charges for orders placed after **18/12/2020** will be \$6.00 per child & \$10.00 per family.

*Select "delivery per family \$10.00" on the first child's order, then for every additional order, select "additional child \$0.00".

OPTION 2 – ZIGGIES PICK UP (online)

Order online by 18/12/2020 Visit: booklists.ziggies.net.au

<u>School-Year Code:</u> LJB-7 <u>Password:</u> ZZY298

Pre-pay or pay on collection.

No cheques will be accepted on the day of pick-up.

Collect your pre-packed bag from 07/01/2021 at Ziggies Educational Supplies Joondalup.

OPTION 3 – CLICK & COLLECT (online)

Available all year round Visit: booklists.ziggies.net.au

<u>School-Year Code:</u> LJBC-7 Password: ZZY298

CHARGE:

Click & Collect: \$2.50 (per child)

Ziggies will contact you via SMS within 3 business days for collection from our Joondalup store.

*\$1.50 from each Click & Collect order fee will be donated to Make a Wish Foundation

PLEASE NOTE:

All Click & Collect orders MUST be PRE-PAID.

OPTION 4 – SELF SERVICE

Available all year round

Please visit us from Monday 30/11/2020 to shop for your requirements.

Visit us in store!

25B Baile Rd Canning Vale WA 6155

OR

Shop 31, 57 Joondalup Drive (off George Grey Place) Joondalup WA 6027

How to shop:

Use the "BIN LOC" Numbers on the left-hand side of your requirements list to find each item in store!

PLEASE NOTE:

The last two weeks of January are <u>EXTREMELY</u> busy in store. We encourage you to arrange your orders as soon as you can.

IMPORTANT!

- ALL Home or Business Delivery and Click & Collect orders must be PRE-PAID. Any unpaid orders will not be processed.
- Please retain the 'confirmation of payment' email that you will be sent once you have paid online.
- Delivery before Term 1 cannot be guaranteed for orders placed after 17th January 2021.

MISSING ITEMS:

Please ensure that you open your parcel and check your order as soon as you receive it. If you have any items missing from your pack that are not listed as being on back order, <u>PLEASE NOTIFY US WITHIN 14 DAYS OF RECEIVING</u> your order by emailing info@ziggies.net.au. <u>Any claims made after this date will not be accepted.</u>

BY ORDERING ONLINE, YOU GO INTO THE DRAW TO WIN 1 OF 20 \$100 PRE-PAID VISA CARDS (only online orders placed by the 18th December 2020 will be eligible for the prize draw)

TRACK YOUR HOME DELIVERY

You will receive notification from Australia Post with your tracking details once your parcel has been dispatched.

Track your delivery online at www.auspost.com.au.

All parcels must be signed for. If you are not home to receive the parcel it will have to be collected from the relevant Post Office unless you authorise for it to be left in a safe place – this is at your own risk.

ZIGGIES EDUCATIONAL SUPPLIES

Email: info@ziggies.net.au **Phone:** 9455 3717

For more information please visit ziggies.net.au/support-for-parents/

PLEASE TEAR OFF THIS COVER PAGE TO KEEP AS A REMINDER





Follow us on social media to see our latest specials and events.



REFUNDS:

- Refunds will be granted for textbooks/workbooks on your Requirements List that are in <u>PERFECT</u> condition up to the 14th February 2021 or 14 days from date of purchase (whichever is the latter). PERFECT condition = still wrapped in packaging, no name written on, no bent corners, no book covering.
- NO REFUNDS WILL BE ISSUED FOR DIGITAL PRODUCTS
- NO REFUNDS WILL BE ISSUED FOR ITEMS MARKED WITH A #, THESE ITEMS ARE FIRM SALE.
- Ziggies will gladly refund or exchange any items deemed faulty from the manufacturer.
- YOU MUST BRING IN YOUR RECEIPT. A REFUND WILL NOT BE GIVEN IF THE RECEIPT IS NOT PRESENTED.

Store Trading Hours:

Mon – Fri	9:00am - 5:00pm
Saturday	9:00am – 1:00pm

Extended hours:

Exteriaea riours.	
Sat 9th Jan	9:00am – 3:00pm
Sat 16th Jan	9:00am – 3:00pm
Sat 23 rd Jan	9:00am - 5:00pm
Thurs 28th Jan	8:00am - 6:00pm
Fri 29 th Jan	8:00am – 6:00pm
Sat 30 th Jan	9:00am – 5:00pm
Sun 31st Jan	11:00am – 4:00pm
Mon 1st Feb	8:00am – 6:00pm
Sat 6th Feb	9:00am - 3:00pm
	(0.4) - 1.0.00

- * Christmas Eve (24th Dec) 9:00am-3:00pm
- * Closed all public holidays (i.e. Christmas Day, Boxing Day, New Year's Day, Australia Day etc.)

Store locations:

 25B Baile Rd Canning Vale WA 6155

(Please be aware that there is limited parking in the last two weeks of January. Please be respectful of neighbouring businesses. To avoid parking issues, we strongly encourage you to visit our store earlier or select the click and collect option)

Shop 31, 57 Joondalup Drive (off George Grey Place) Joondalup WA 6027

(There is extra parking at Edgewater Train Station – show us a photo of your ticket to be reimbursed the \$2.00 fee) *valid until 2nd March 2021

Covid-19:

Due to the current situation with Covid-19, we will be monitoring and restricting (if necessary) the number of customers in store for the safety of our customers and staff. If you are visiting our stores in the last 2 weeks of January, please be aware that you may need to wait in line to enter our stores for self-service, so please limit the number of family members you bring with you. We highly recommend that you visit before this time or select the click and collect option.

Plastic Bags:

We encourage you to bring re-usable bags into store if doing self-service. Re-usable plastic and fabric bags will be available to purchase if required.

LAKE JOONDALUP BAPTIST COLLEGE YEAR 7 2021

Stud	ent Name: Parent Name:				
Pare	nt Contact #: Email Contact:				
	PLEASE <u>TICK</u> THE ITEMS YOU WISH TO PURCHASE				
BIN LOC		~	Q TY	PRICE EA	TOTAL
ALL STU	DENTS REQUIRE				
	All students are required to purchase the below Education Perfect Bundle which covers				
0	Humanities, French, Japanese, English and Science Subjects		–	0405.00	\$405.00
С	Lake Joondalup Baptist College Year 7 Ed Perfect Bundle		1	\$105.00	\$105.00
	(Available to purchase online only. Required resource for all Year 7 students.)				
0104*	Please choose this item carefully as once purchased it cannot be refunded. # Earbuds Verbatim Urban Sound	$\overline{}$	1 1	\$8.70	₽0.70
0194*	(Required resource for all Year 7 students)		1	ФО. / U	\$8.70
1421*	# USB Thumbdrive Verbatim Slider 32GB (available behind the counter at Ziggies)		7 1	\$9.95	¢ 0 05
1421	(Required resource for all Year 7 students)		1	φ9.90	\$9.95
	SUBTOTAL				\$123.65
	ODIOTAL				Ψ120.00
GENERA	L REQUIREMENTS				
	All students are required to purchase the items listed below				
	General Requirements are standard but purchasers should check to see if their child/children already	have t	he existi	ng eguipmen	t
	before buying new one				
0111	# Crayons Texta Zoom Twist Wallet 12		1	\$4.60	\$4.60
0169	Document Wallet A4 With Button Blue		1	\$1.25	\$1.25
0196	Eraser Large Vinyl		1	\$0.50	\$0.50
0223	Exercise Book Olympic A4 64 Page 8mm		1	\$1.20	\$1.20
0249	# Glue Stick Artline Clear 40g		1	\$2.40	\$2.40
0281	# Highlighter Maped Assorted Colours in Wallet 4		1	\$3.75	\$3.75
0292	Loose Leaf Refills A4 Ruled Reinforced 7mm Pk100		1	\$2.95	\$2.95
0397	# Pen BIC Cristal Medium Black		2	\$0.60	\$1.20
0398	# Pen BIC Cristal Medium Blue		5	\$0.60	\$3.00
0400	# Pen BIC Cristal Medium Red		5		\$3.00
0442	Pencil Goldfaber Deluxe HB		2		\$1.10
0467	Pencil Sharpener Double Metal		1	•	\$0.85
0506	Ruler Wooden 30cm		1		\$0.70
0510	Scissors Maped School 170mm		1		\$2.15
1186*	Pencil Coloured Crayola 12		1	\$4.30	\$4.30
	SUBTOTAL				\$32.95
THE ADT	6				
THE ART	S ED MUSIC				
ADVANC	By application ONLY				
4902	How to Blitz Grade 1 Theory		7 1	\$19.99	\$19.99
4902	SUBTOTAL			φ19.99	\$19.99
	SUBTUTAL				φ13.33
DRAMA					
	Students will need Theatre Blacks for rehearsing and performances (comfortable black clothing)				
	SUBTOTAL				
MEDIA					
0130	Display Book A4 20 Inserts Black		1	\$1.85	\$1.85
0444	Pencil Goldfaber Deluxe 2B		1		\$0.55
1411*	# Card Memory Verbatim SDHC 16GB High Capacity # (available behind the counter at Ziggies)		1	\$13.95	\$13.95
	SUBTOTAL				\$16.35

LAKE JOONDALUP BAPTIST COLLEGE YEAR 7 2021

WISUAL ARTS	BIN LOC	ITEM	OTES <	QTY	PRICE EA	TOTAL
SUBTOTAL						
VISUAL ARTS		No textbook required				
1 \$30.05 \$30.55 \$30.55 \$30.55 \$40.55		SUBTOTAL				
1 1 1 1 1 1 1 1 1 1						
1				_		
1 \$0.55 \$0.55		, ,		1		
1 \$5.65 \$5.65						
SUBTOTAL \$15.80						
ENGLISH 3108 The Happiest Refugee [Do, A] 1 \$32.99 \$32	0554	, u		1	\$5.65	
The Happiest Refugee [Do, A] 1 \$32.99 \$32.99		SUBTOTAL				\$15.80
The Happiest Refugee [Do, A] 1 \$32.99 \$32.99	- 11011011					
SUBTOTAL \$32.99				٦ ,	# 20.00	#20.00
HEALTH AND PHYSICAL EDUCATION	9108			1	\$32.99	
HEALTH EDUCATION No textbook required SUBTOTAL		PORIOIAL				\$32.99
HEALTH EDUCATION No textbook required	UEALTU	AND DUVEICAL EDUCATION				
No lextbook required SUBTOTAL						
HUMANITIES No textbook required 2 \$1.65 \$3.30	IILALIIII					
HUMANITIES						
No textbook required Exercise Book Olympic A4 128 page 8mm 2 \$1.65 \$3.30		ODITOTAL				
No textbook required Exercise Book Olympic A4 128 page 8mm 2 \$1.65 \$3.30	HUMANIT	TES				
Exercise Book Olympic A4 128 page 8mm 2 \$1.65 \$3.30	<u></u>					
LANGUAGES FRENCH	0246			1 2	\$1.65	\$3.30
LANGUAGES FRENCH					7 1100	
FRENCH						
1 \$1.85 \$1.85 \$1.85 \$1.85 \$2.20 \$1.20	LANGUA	<u>GES</u>				
1 \$1.20	FRENCH					
1 \$5.95 \$5.95	0130	Display Book A4 20 Inserts Black		1	\$1.85	\$1.85
SUBTOTAL \$9.00	0223	Exercise Book Olympic A4 64 Page 8mm		1	\$1.20	\$1.20
JAPANESE	1270*	# Whiteboard Marker & Eraser Set Pentel (includes red & black whiteboard markers)		1	\$5.95	\$5.95
0130 Display Book A4 20 Inserts Black 1 \$1.85 \$1.85 \$1.85 \$1.20		SUBTOTAL				\$9.00
0130 Display Book A4 20 Inserts Black 1 \$1.85 \$1.85 \$1.85 \$1.20						
1 \$1.20 \$1.20 \$1.20 \$1.20 \$1.20 \$1.20 \$1.20 \$2.50 \$1.20				_		
1 \$5.95 \$5.95 \$5.95 \$4.951 Hiragana in 48 Minutes Student Card Set [Quackenbush, H.] 1 \$25.95 \$25.95 \$34.95				1		
Hiragana in 48 Minutes Student Card Set [Quackenbush, H.] 1 \$25.95 \$34.95						
SUBTOTAL \$34.95		,		-		
LITERACY ENHANCEMENT Invited students ONLY	4951			1	\$25.95	
Invited students ONLY		SUBTOTAL				\$34.95
Invited students ONLY	LITEDAO	V FAULANGEMENT				
1 \$1.85 \$1.85 \$1.85 \$1.85 \$1.85 \$1.85 \$1.85 \$1.20 \$1.20 \$1.20 \$1.20 \$1.20 \$1.20 \$1.237* \$ \$ \$ \$ \$ \$ \$1.75 \$1.75 \$ \$ \$ \$ \$ \$ \$ \$ \$	LITERAC					
1 \$1.20 \$1.20 \$1.20 \$1.20 \$1.27* Scrap Book Protext 330 x 240 Animal Magic 64 Page 1 \$1.75	0420			٦ ،	¢4.05	Φ4 O <i>E</i>
1 \$1.75 \$1.75						
SUBTOTAL \$4.80 MATHEMATICS No textbook required - teaching and learning material provided which is covered by Mathematics Subject Levy 0246 Exercise Book Olympic A4 128 page 8mm 4 \$1.65 \$6.60 0499 Protractor Celco 10cm 180 Degrees 1 \$0.55 \$0.55 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$15.95 \$15.95 SUBTOTAL \$53.05 SCIENCE 0235 Exercise Book Olympic A4 96 Page 8mm 2 \$1.40 \$2.80 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95		• •		_		
MATHEMATICS No textbook required - teaching and learning material provided which is covered by Mathematics Subject Levy 0246 Exercise Book Olympic A4 128 page 8mm 4 \$1.65 \$6.60 0499 Protractor Celco 10cm 180 Degrees 1 \$0.55 \$0.55 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$15.95 \$15.95 SUBTOTAL \$53.05 SCIENCE 2 \$1.40 \$2.80 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 2 \$1.40 \$2.80 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95	1237		ļ	! !	φ1./3	
No textbook required - teaching and learning material provided which is covered by Mathematics Subject Levy D246 Exercise Book Olympic A4 128 page 8mm		JUBICIAL				\$4.00
No textbook required - teaching and learning material provided which is covered by Mathematics Subject Levy D246 Exercise Book Olympic A4 128 page 8mm	МАТНЕМ	ATICS				
0246 Exercise Book Olympic A4 128 page 8mm 4 \$1.65 \$6.60 0499 Protractor Celco 10cm 180 Degrees 1 \$0.55 \$0.55 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4968 Nelson Maths Workbook 1 1 \$15.95 \$15.95 SUBTOTAL SCIENCE 0235 Exercise Book Olympic A4 96 Page 8mm 2 \$1.40 \$2.80 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95	1017 X 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		ematics Subject Lev	/		
0499 Protractor Celco 10cm 180 Degrees 1 \$0.55 \$0.55 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4968 Nelson Maths Workbook 1 1 \$15.95 \$15.95 SUBTOTAL SCIENCE 0235 Exercise Book Olympic A4 96 Page 8mm 2 \$1.40 \$2.80 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95	0246		mation Gabjoot 201	_	\$1.65	\$6.60
1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4968 Nelson Maths Workbook 1 1 \$15.95 \$15.95 SUBTOTAL SCIENCE 0235 Exercise Book Olympic A4 96 Page 8mm 2 \$1.40 \$2.80 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95						
4968 Nelson Maths Workbook 1 1 \$15.95 \$15.95 SUBTOTAL SCIENCE 0235 Exercise Book Olympic A4 96 Page 8mm 2 \$1.40 \$2.80 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95						
SUBTOTAL \$53.05 SCIENCE 0235 Exercise Book Olympic A4 96 Page 8mm 1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 2 \$1.40 \$2.80 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95				_		
SCIENCE0235Exercise Book Olympic A4 96 Page 8mm2\$1.40\$2.801407*Calculator Scientific Casio FX82ES (available behind the counter at Ziggies)1\$29.95\$29.954952Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.]1\$66.95\$66.95				· · · ·	Ţ.3.03	
0235Exercise Book Olympic A4 96 Page 8mm2\$1.40\$2.801407*Calculator Scientific Casio FX82ES (available behind the counter at Ziggies)1\$29.95\$29.954952Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.]1\$66.95\$66.95	00:5::25					7.5.00
1407* Calculator Scientific Casio FX82ES (available behind the counter at Ziggies) 1 \$29.95 \$29.95 4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95				1 ^	6 .4.46	^
4952 Oxford Science 7 Western Australian Curriculum Student book + obook assess [Helen S. et al.] 1 \$66.95 \$66.95						
			at al 1			
	4952	Oxford Science / Western Australian Curriculum Student book + obook assess [Helen S. SUBTOTAL	et al.]	1	\$00.95	\$99.70

LAKE JOONDALUP BAPTIST COLLEGE YEAR 7 2021

BIN LOC	ITEM	OTES	√	QTY I	PRICE EA	TOTAL
TECHNOL	<u>LOGIES</u>					
APPLIED	DESIGN/COMPUTING					
0141	Display Book A4 20 Inserts With Insert Cover Black			1	\$3.75	\$3.75
	SUBTOTAL	-				\$3.75
D&T/HOM	IE ECONOMICS PARENTS TO SUPPLY: lunch box (plastic, clipseal lid) - available from supermarkets					
0141	Display Book A4 20 Inserts With Insert Cover Black			1	\$3.75	\$3.75
0444	Pencil Goldfaber Deluxe 2B			1	\$0.55	\$0.55
0452	Pencil Goldfaber Deluxe 2H			1	\$0.55	\$0.55
	SUBTOTAL			_		\$4.85

GRAND TOTAL: \$		

If pre-paying by		EMS LIST - PAYMENT DETAILS - ZIGG out the information below:	SIES EDUCATIONAL SUPPLIES
Card Type:	☐ Mastercard	□ Visa	(American Express is not accepted)
Card Number:		/Expiry:	
Cardholder's Na	ame:	Signa	ature:
*By signing above	e, you authorise Ziggies E	ducational Supplies to debit your account for i	the above order.